247 BLOCK
A% X Y (X-X0)*(Yn-1-Y0) (Xn-1-X0)*(Y-YO0) RE: BB OB
X0.Y0 + T73700.000 + 3300.000
G247-1 + 73924.536 + 3398.912
G247-2 + 73924.517 + 3429.748 + 22207.425504 + 29133.096928 90- 2- 7 30.836
G247-7 + 73924.557 + 3445.773 + 29135.821636 + 382728.516641 89-51-19 16.025
G247-8 + 73922.434 + 3447.912 + 32424.871482 + 33214.874984 134-47- 6 3.014
G247-4 + 73872.198 + 3446.510 + 25469.854752 + 32588.805340 181-35-53 50.257
G247-5 + 73765.217 + 3443.614 + 9554.942870 + 24729.756344 181-33- 2 107.018
G247-6 + 73785.159 + 3394.592 + 93857.7446286 + 8189.0064864 269-55-56 49.022
G247-1 + 73924.538 + 3398.912 + 21239.309312 + 8445.007008 1-33-10 159.4386
+149389.969982 +165008.863709
 EE = 15618.893727
R = 7809.4488863
1 LOT Lo - |
B%& X Y (X-X0)*(Yn-1-Y0) (Xn-1-X0)*(Y-YO0) 75 6 A PE OB
X0.YO0 + 73800.000 + 3300.000
G247-186 + T73872.448 + 3397.500
G247-1 + 73924.538 + 3398.912 + 12142.260000 + 7185.978576 1-33-10 52.107
G247-2 + 73924.517 + 3429.748 + 12316.225504 + 16158.296928 90- 2- 7 30.836
G247-21 + T73872.289 + 3428.321 + 9379.353172 + 15978.145957 181-33-54 52.247
G247-186 + 73872.448 + 3397.500 + 9296.599808 + T048.177500 270-17-41 30.821
+ 43134.438484 + 46350.596961
& m8E = 3216.158477
BHE = 1608.079238
2 LOT 10 -2
B4 X Y (X-X0)*(Yn-1-Y0) (Xn-1-X0)*(Y-YO0) VG| PE OB
X0.Y0 + 73800.000 + 3400.000
G247-2 + 73924.517 + 3429.748
G247-7 + 73924.557 + 3445.773 + 3705.321638 + 5899.516641 89-51-19 16.025
G247-8 + 73922.434 + 3447.912 + 5604.171482 + B59B67.774984 134-47- 6 3.014
G247-4 + 73872.196 + 3446.510 + 3459.054752 + 5694.405340 181-35-53 50.257
G247-21 + 73872.289 + 3428.321 + 3362.161390 + 2044.6629186 270-17-41 18.190
G247-2 + 73924.517 + 3429.748 + 3526.445957 + 2150.453172 1-33-54 52.247
+ 19657.155217 + 21556.813053
= 1899.657836

o
= =
sk
Hon

949.828818




* % ¥ % %
3 LOT

R &

X0.YO0

G247-4
G247-17
G247-20
G247-21
G247-4

4 LOT

Mmoo

X0.Y0

G247-15
G247-16
G247-21
G247-20
G247-15

5 LOT

RO
X0.Y0
G247-17
G247-18
G247-14
G247-15
G247-17

6 LOT

Ro%&
X0.YO
G247-18
G247-19

o o+ o+

+ o+ + 4+ o+ 4

o+ 4

73800.
73872.
73815.
73816.
73872.
73872.

000
196
990
036
289
196

73800.
73816.
73872.
73872,
73816.
73816.

000
113
448
289
036
113

73700.000
73815.990
73799.134
73800.396
73816.113
73815.990

X
73700.000
73799.134
73782.235

+ o+ o+ o+ + o o+ o+ o+

+ o+ o+ o+ o+ 4

+

B Et

3400.000
3446.510
3444.988
3426.784
3428.321
3446.510

B B
Sk

3300.000
3395.973
3397.500
3428.321
3426.784
3395.973

= e
S

3300.
3444.
3444.
3395.
3385.
3444.

000
988
532
547
973
988

= =
Sk

Y
3300.000
3444 .532
3444.074

R

* ¥ ¥ ¥ ¥ ¥ ¥

(X-X0)*(Yn-1-Y0)

743.694900
721.427568
1936.188576
2044.662916

+ o+ o+ o+

5445.973960
2046.572794
1023.286397

+

(X-X0)*(Yn-1-Y0)

6953.051904
7048.177500
2057.755556
2042.870592

+ o+ 4+

+

18101.855552
3469.873360
1734.936680

(X-X0)#*(Yn-1-YO0)

14373.240392
14510.434672
11094.248811
11131.908270

+ o+ o+ o+

+ 51109.832145
1596.687785
798.343892

(X-X0)%#(Yn-1-Y0)

+ 11885.589020

(Xn-1-X0)*(Y-YO0)

3247.953648
428.276160
454 .155556

3362.161390

+ o+ 4+

7492.546754

+

(Xn-1-X0)*(Y-YO0)

1571.017500
9296.599808
9165.088576
1539.023028

+ o+ o+ 4+

21571.728912

+

(Xn-1-X0)*(Y-YO0)

16764.266680
9471 .956298
9635.305308

16834.991644

+ o+ o+ o+

52706.519930

o+

(Xn-1-X0)*(Y-YO0)

+ 14282.631916

7| A

181-33- 2
270- 8-38

1-33-54
90-17-41

PRI

1-33-10
90-17-41
181-33-54
270- 8-38

% E A

181-33- 2
271-28-33
1-33-10
90- 8-38

7 6

181-33- 2

56.
18.
56.
18.

56.
30.
56.
30.

16.
.001
15.
49.

49

16.

227
204
274
190

356
821
274
811

862

723
015

=
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G247-13 + T73783.490 + 3395.089 + 12028.738260 + 7819.643915 271-28- 3 49.001
G247-14 + 73800.396 + 3395.547 + 9546.555244 + T7977.219030 1-33-10 16.812
G247-18 + T73799.134 + 3444 .532 + 9471.856298 + 14510.434672 91~-28-33 49.001

e

42932.838822 44589.929533

o

& EHE = 1657.090711
mE = 828.545355
7 LOT (0-6
A% X Y (X-X0)#*(Yn-1-Y0) (Xn-1-X0)*(Y-YO0) 5 E A B OB
X0.Y0 + 73700.000 + 3300.000
G247-19 + 73782.235 + 3444.074
G247-9 + T73787.929 + 3443.687 + 9786.8027486 + 11816.100445 181-33- 2 14.311
& G247-10 + T73787.856 + 3394.685 + 9750.025072 + 6430.498785 269-54-53 49.022
. G247-13 + 7T73783.490 + 3395.089 + 7903.580850 + 68452.359184 1-33-10 15.640
G247-19 + 73782.235 + 3444.074 + 7819.643915 + 12028.738260 91-28- 3 49.001
+ 35260.0525883 + 36727.898674
F mHE = 1467.6844091
R = 733.822045
2 A4 .
A% X Y (X-X0)*(Yn-1-Y0) (Xn-1-X0) *(Y-YO0) 5| A BBt
X0.Y0 + 73700.000 + 3300.000
G247-6 + T73785.159 + 3394.592
G247-10 + T73787.856 + 3394.6865 + 6418.634752 + 6188.278735 1-33-10 2.898
G247-9 + T73787.929 + 3443.687 + 6430.498785 + 9750.025072 89-54-53 49.022
G247-5 + 73765.217 + 3443.614 + 9370.835079 + 9755.5554086 181-33- 2 2.718
G247-6 + 73765.159 + 3394.592 + 9357.744626 + 6169.006464 269-55-56 49.022
+ 381577.713242 + 31842.863877
Z mRE = 265.150435
mHE = 132.575217
3 2 %Y
A% X Y (X-X0)*(Yn-1-Y0) (Xn-1-X0)*(Y-YO0) 5 A B OB
X0.YO + 73900.000 + 3400.000
G247-3 + 73924.563 + 3447.971
G247-7 + 783924.557 + 3445.773 + 1178.023847 + 1124.322199 269-51-19 2.198
G247-8 + 73922.434 + 3447.912 + 1026.871482 + 1176.574984 134-47- 6 3.014
G247-3 + 73924.583 + 3447.971 + 1176.862456 + 1076.181414 1-35-53 2.130
+ 3381.757785 + 88377.078597
T m8E = 4.679188
mE = 2.339594




£ % % 4o E =t & ¥ % % (G247-4 ) - (G247-9 ) N O 1

S @/ = 181-33- 2 cos= -0.999634 sin= -0.027059 BIEEX = 0.9997795
=S £ A BB B & 1k BB & D X X 3| E DY Y B & X Y
G247-4 + T73872.1986 + 3446.510
G247-17 56.239 56.227 - 58.208 + O - 1.521 - 1 + 73815.990 + 3444.988
G247-18 16.866 16.862 - 16.856 + 0 - 0.456 + 0 + 73799.134 + 3444.532
G247-19 16.909 16.905 - 16.899 + 0 - 0.457 - 1 + 73782.235 + 3444.074
G247-9 14.314 14.311 - 14.308 + 0 - 0.387 + O + 73767.929 + 3443.687
& & = 104.328 104.305 - 104.2867 + 0 - 2.821 - 2 - 104.287 - 2.823
% % 45} E £t =1 * % % (G247-10 ) - (G247-1 ) N O 2
HEAE = 1-33-10 cos= +0.999633 sin= +0.027098 BIER = 0.9998852
B & & |l PR B & IE 85 Bt D X X 8= DY Y B & X Y
G247-10 + 73767.856 + 3394.6865
G247-18 15.642 15.640 + 15.834 + 0 + 0.424 + 0 + 73783.490 + 8895.089
G247-14 16.914 16.912 + 16.9086 + 0 + 0.458 + 0 + 73800.396 + 3395.547
G247-15 15.725 15.723 + 15.717 + O + 0.426 + 0 + 73816.113 + 3395.973
G247-16 56.362 56.356 + 58.335 + 0 + 1.527 + 0 + T73872.448 + 8397.500
G247-1 52.113 52.107 + 52.088 + O + 1.412 + 0 + 73924.536 + 3398.912
& = 156.756 156.738 + 156.880 + 0 + 4.247 + 0 + 156.880 + 4.247
* % % w E 5 =1 * % % (G247-15 ) - (6247-17 ) N O 3
5EH = 90- 8-38 cos= -0.002511 sin= +0.999997 BIEEK = 0.9999592
= G- 1 OR BE BE & IE B B D X X 3| = DY Y #8 = X Y
G247-15 + 73816.113 + 38395.973
G247-20 30.812 30.811 - 0.077 + O + 30.811 + 0 + 73816.036 + B3426.784
G247-17 18.205 18.204 - 0.046 + 0 + 18.204 + O + 73815.990 + 3444.988
&it = 49.017 49.015 - 0.123 + 0 + 49.015 + 0 - 0.123 + 49.015




